DARRYL FITTON v PAUL JENNINGS 3-0 04/01/2015 13:43:16 - page 1

SET AVE ____PLAYER LEG 3 6 9 12 15 18 21 24 27 30 33 36 39 42 45 O/S DU GS SL TNS SET AVE __ PLAYER LEG 3 6 9 12 15 18 21 24 27 30 33 36 39 42 45 O/S DU GS SL TNS
14.90 13.56

1 [100[ e0f100[140[ 69| 32 1]16]32 3 o 1 [ 23 93] 41] 84] 45100 18 115] 1
29 DARRYL 2 | 48| 140| 100[ 100| 48 15 65| 3 27 PAUL 2 | 45|140| 140 78| 98 2 [14 |98 2
1] @ JrITTON 3 | 85125140 131] 20 3 {15]20 3 1 | ® PENNINGS 3 | 60|137|140[100] 32 15 32| 3
ENG 4 | 60] 96 99 96{134] 0 18 161 ENG 4 | e0l8o| 60[139] 17] 45 3]18]45 2+1
20 5 |100180] 60[ 92[ 12 37] 20 1 {19 ]20 2+1 33 5 | 42{140] 96140 58] 17] 0O 21 8 |2
SETAVE _ PLAYER  LEG 3 6 9 12 15 18 21 24 27 30 33 36 39 42 45 O/S DU GS SL TNS SET AVE ___ PLAYER LEG 3 6 9 12 15 18 21 24 27 30 33 36 39 42 45 O/S DU GS SL TNS
1045 ®| 1 | sgl80]l8o| 43| 40 3 [15]40 2+2 540 1 | 60| 60[140 26 12 215 1
31 DARRYL 2 | 85/100|100[ 100|116 3 15116 4 25 PAUL 2 | 60/ 100] 57| 84| 59 15 141] 1
219® JiTToN 3 |135] 82| 28135 89 32 3 (18]32 2 2 | ® PENNINGS 3 |100| 34| 95(100]100 15 72| 3
ENG p) ENG p)
31 : |60 :
SET AVE____ PLAYER LEG 3 6 9 12 15 18 21 24 27 30 33 36 39 42 45 O/S DU GS SL TNS SET AVE PLAYER _ LEG 3 6 9 12 15 18 21 24 27 30 33 36 39 42 45 O/S DU GS SL TNS
740 1 | 95| 81| 40140 82| 57 6 3 (216 1 723 ®| 1 | 57[100] 60[ 60]140] 59 9 21 16| 2
27 DARRYL 2 80| 93180 16| 16 16 3 118](16 2+2 27 PAUL 2 | 97]100] 77{121] 70 15 36| 2
31]e Jirton 3 | 97| 96|140[100] 68 3 (1568 2 | 3 | ® PENNINGS 3 | 59 66]134 128 74 15 40 | 2
83 ENG p) 67 ENG p)
I : | :
PLAYER W/L |LWON |LOST [ AVE [TAVE | PTS |DRTS | TON |TON+| 180 |TONS JPLAYER W/L |LWON|LOST | AVE [TAVE | PTS |DRTS | TON [TON+| 180 |TONS
Darryl Fitton W 9 2 29.35 | 32.76 | 5430 185 15 5 5 25+5 Paul Jennings L 2 9 27.02 | 26.19 | 4836 179 13 7 1 21+1
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